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X ~ Gaussian(174,10)

I 2ZHo = 32 Hi1d

- ZEHOE 25 T2 LIEfLYY| observe(x > 158)

observe(x < 204)
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e 1 L= _lE:Il-IO'”A-I == EI-O|'LH7| return X
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X ~ Gaussian(0,1) flip(1-Py (1))
observe(x>1)
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sl ~ Gaussian(0,10) sl ~ Gaussian(0,10)
s2 ~ Gaussian(0,10) s2 ~ Gaussian(0,10)
pl ~ Gaussian(sl,5) p ~ Gaussian(s2-s1,5V2)

p2 ~ Gaussian(s2,5)
observe(p2-pl > 1.0) observe(p > 1.0)

return (sl, s2) return (sl,s2)
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sl ~ Gaussian(0,10) sl ~ Gaussian(0,10)
s2 ~ Gaussian(0,10) s2 ~ Gaussian(0,10)

p ~ Gaussian(s2-s1,5v2) flip(1-®,, . 57(D)
observe(p > 1.0)
return (sl1,s2)

return (sl1,s2)
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